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(English Version)
Note : (1)  You must write the Subject-code/Question paper-code 026 in the box provided on the ftitle
page of your answer-book.
(1)  Make sure that the answer-book contains 28 pages (including title page) and properly serialized
as soon as you receive it
(1)  Question/s attempted after leaving blank page/s in the answer-book would not be evaluated

= .
ﬁ (tv) All questions are compulsory.
()  Question paper contains 5 questions which are having sub-parts in all and has five

Sections-A, B, C, D and E.

(vi)  Section - A Contains question No. 1 Multiple Choice / Fill in the blanks / True-False questions
in 20 sub-parts (i to xx) carrying one mark each.

(vi1) Section - B Contains question No. 2 which has 15 very short answer type questions carrying
2 marks each. Attempt 13 questions out of 15. Answer to each questions should be given n
25-30 words.

(viit) Section - C Contains question No. 3 comprises 1 Source Base / Case Base question with 6
follow up questions. Each question carries 1 mark.

(ix)  Section - D Contains question No. 4 which has 4 sub-parts (i to iv) with complete internal
choice. Each sub-part (question) carries 4 marks. Answer to these sub-parts (questions)
should be given in 80-100 words.

(x) Section-E Contains question No. 5 which has 2 sub-parts (i to ii) with complete internal
choice. Each sub-part (question) carries 6 marks. Answer to these sub-parts (Questions)

should be given in 125-150 words. https://www.punjabboardonline.com

(x1) Punjabi and Hindi Versions of questions are true translation of English Version. So in the
case of any confusion consider English Version to be Correct.

Note : Use of Simple Calculator is allowed.

=4 E]
Section - A o

(One Mark Question)

1. Objective type questions. All questions are compulsory. 20x1=20
(i) Which form of Market is more practical ? 1
(a) Perfect Competition Market  (b) Monopolistic Competition Market
(c) Monopoly (d) None of the above
(i)  Supply of a commodity rises due to rise in Price is called 1
(a) Contraction in Supply (b) Increase in Supply
(c) Extension in Supply (d) None of the above

(iii) What type of relation is between Price and Demand ?
(a) positive (b) wrong [=HRE]
(c) veryclose (d) negative &
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(iv)  Per Unit Cost of a commodity is called

(a)  Average Fixed Cost (AFC) (b) Average Cost (AC)
(c) Total Variable Cost (TVC) (d) None of the above

(V) are two principal branches of Economics.
(a) Micro Economics (b) Macro Economics  [E4R[E]
() Modern Economics (d) Both (a) and (b) 0]

(vij  When TU is maximum, then MU is

(a) very low (b) zero

(c) also maximum (d) negative

(vii) What is Bank Rate ?
(a) A rate at which the Central Bank gives loan to the public customers.

(b) A rate at which the Central Bank gives loan to the Commercial Banks.

% (c) Both (a) and (b)
0 (d) None of the above

(vii) National Income =

(a) Gross National Income at Market Price
(b) Net National Income at Factor Cost

(c) Net Domestic Income at Factor Cost
(d) National Disposable Income

(ix)  Choose True/False :
Net Indirect Taxes = (Indirect Taxes — Subsidy)

(x) A variable which is measured with reference to ‘a point of time’ is called

(a) Flow (b) Stock EHRE
(c) Capital Goods (d) None of the above [m]
(xi) Which Banks do not have the authority to issue the currency notes in India ?
(a) Commercial Banks (b) Reserve Bank of India
(c) Private Banks (d) Both (a) and (c)
026/C-SS 15
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; | 1
(XH) Incume Tax is a type of ‘ 0 0
(@)  Indirect Tax (b) Direct Tax ,%
(€)  Excise Tax (d) None of the above  [E]
o . . 1
(xiii)  Which is not the part of a government budget ?
(a)  Revenue Budget (b) Capital Budget
(€)  Both (a) and (b) (d) Domestic Budget
()(iV) Choose - (True / False) 1

Producer’s Equilibrium is determined when Marginal Cost equals to Marginal Revenue
and Marginal Cost Curve cut Marginal Revenue Curve from below.

(xv)  Read the given statements carefully. !
Statement 1: There is more economic freedom to a person in the Mixed Economy.
Statement 2 : There is more economic freedom to a person in the Socialistic Economy.
Choose the right answer in the light of above given statements :

(a) Statement 1 is incorrect and statement 2 is correct.
(b) Statement 2 is incorrect and statement 1 is correct.
% (c) Both the statements are correct.
(=] (d) Both the statements are incorrect.

(xvi) ~ Which is correct to measure Marginal Revenue ? 1
(@) MR=TRn-TRn-1 (b) MR=ATR/AQ
(c) Both (a) and (b) (d) None of the above

(xvii) There is no change in when Price Elasticity of Demand is inelastic. 1
(a) demand (b) price
() supply (d) all of the above

(xviii) Household Sector is the owner of the Factors of the Production.  (True/ False) 1

(xix) Match the correct statement : 1

Economic Concept Explanation
(A) Real Flow ()  Flow of goods and services
(B) Monetary Flow (i) Weaken the Circular Flow of Income
(C) Injections (11) Money Flow
(D) Leakages (iv) Strengthen the Circular Flow of Income

(A) (B) (C) (D)
@ ) (i) Gv) (i)

® O @ @ ) e
() () (i) @) (iv) ,«;%
(d) (i) () (i) (v) @&
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(xx) Marginal Propensity to Consume (MPC) = 1
&) =
EAE
]
AY
© e @ Fo
Section - B

(2 Marks Questiuna)

2. Very short answer type questions. (Atte

mpt any 13 out of 15 - .
questions in 25-30 words. y of 15 questions) Answer the following

13x2=26
()  Who is Producer ? 2 |
(i)  What is meant by foreign Exchange Rate ? 2
(i)  What is meant by Balance of Trade ? 2
(iv)  What is Economics ? 2
E5RME
(v)  What are Indifference Curves ? [ 2
(vij  Complete the following Table : 2
Units of Production| 1 [ 2 3 '
MC 30 25 20 0
TC - 5 2 .
(vii)  Write the features of market. 2
(viti) Write the conditions of a producer’s equilibrium with Marginal method. 2
2

(ix)  What is meant by Macro Economics ?

EI%EI
(x)  What is Full Employment ? 0 ‘
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(X)  State the relation between Multiplier and Marginal propensity to Consume.

(xii)  What is Repo Rate ? Re 2
B
(1) why 1s Foreign Exchange demanded ? 2
(dv)  What is meant by Monetary Cost ? .
2

(xv)  What is meant by Perfect Competition Market ?

% Section - C
(=]
en

3.  Case/source based question. Read the following paragraph and answer the questions giv
below : 6x1=6

India has overtaken the U.K. to become the fifth-largest economy of the world. It is
now behind only the US, China, Japan and Germany, according to IMF projections. A
decade back, India was ranked 11" among the large economies, while the U.K. was at the
fifth position. With record beating expansion in the April-June quarter, the Indian economy
has now overtaken the UK., which has slipped to the sixth spot. The size of the Indian
economy in ‘nominal’ cash terms was estimated to be $ 854.7 billion. On the same basis, the
U.K was $816 biﬂiunhemnumy. With India being the world’s fastest growing major economy,
its lead over the U.K. will widen in the next few years. But, India has a population 20 times
that of the UK. and so its GDP per capita is lower. Although, India’s GDP expanded 13.5%
in the April-June quarter; but rising interest costs and the looming threat of a recession in
major world economies could slow the momentum in the coming quarters. In addition to
this, the slowing growth of the manufacturing sector is an area of worry. Also, imports
being higher than exports is a matter of concern. Not only this, an uneven monsoon is likely
to weigh upon agriculture growth and rural demand. The central bank has raised the repo
rate by 190 basis points in four instalments since May 2022 and has vowed to do more to

bring inflation under control.

(1) What is the size of the Indian economy at present ? 1

()  How much Indian GDP expanded in the April-June quarter ? 1

(iif) ~ What is the size of India’s population in comparison with U.K. ? 1
EBLRE

(iv) ~ Name the two largest economies of the world. = 1

(v)  According to the para, highlight any two factors which could slow down the growth 1
of the Indian economy in the coming quarters.

(vi) By how many basis points, has the repo rate been increased since May 2022 ? 1
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O Section - D
% (4 Marks Questions)

4. Attempt4d questions and only one question from the given internal choice questions. Answer
to the theoretical question in 80-100 words. 4x4=16

(]

(i)  In Rs. 80,000 Cr. economy Rs. 7000 Crore are invested. If Marginal Propensity to 4
Consume (MPC) in the economy is 0.50 then, (i) How much income will increase and
(ii) what will be the total income of the economy ?

OR
Write any four functions of the Budget. 4
(i)  Explain any four factors affecting demand. 4
OR
Complete the given table : 4
Units of Production TC TFC TVC AFC AVC
0 50 - ' EHAE
L 1 0 _ | | =
2 140
3 200 |
4 280

(i)  Explain the relation between Total Revenue, Average Revenue and Marginal Revenue. 4

OR

With the help of diagram, write in brief the Law of Diminishing Marginal Utility. 4

(iv)  Explain the Circular Flow of Income in two Sector Economy with the help of diagram. 4

[El580] OR
0, What is meant by Money ? Explain its primary functions.

rnover
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E4RE Section - E
%% (6 Marks Questions)

5.  Attempt 2 questions and only one question from the given internal choice questions. Answ
the theoretical question in 125-150 words. .

er
6x2=12

()  Find out from the following data : 6
(@ Net National Product at Factor Cost
_(h) Gross Domestic Product at Market Price (GDPyp)
Items - Rs. (in Crores) EIHAE
(1) Rent | 100 E‘%
(2) Profit 150
(3) Interest 75
(4) Wages 400
(5) Employer’s contribution to social security 70
)  Net Factor Income from Abroad 200
Net Indirect Taxes N
meRE (8] Depreciation 105
2 :
0 What are the reasons of disequilibrium in Balance of Payments ? 6
(i)  Explain the Law of Supply. What are its exceptions ? 6
OR
6

What is meant by Equilibrium Price ? How Equilibrium Price is determined under
Perfect Competition ?
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